07/03/21 — noman7 1 X"Tn 83-112 — 2 Tvin |nan
1272 VIYO jIAWNN ATV NIn NIYY wi7Y ;[nann Jwn MUY TR T Nxn

10097 221y 100 72yn iy ' nI7RwUN 72 9y 1y 7 20 :07Rw D run

:D'Kan NN nx awn L1

im 24 +37,  limyvx +vVx —vVx a2 lim—& €2

X
n— o0 X — 00 x—0 In(e*+1)In (e*+x)

J sin(2x) e* dx nxnwn  x

0

1
A 5 dx Xan 701K DX AUN .2
4 X“—=2x-3

h(x) = 2x3® — 6x? — a(3x% — 12x) n'yjuva vax .3
N9 YU T NTYN MIND DR IRYNA a € R on1on v v D7 X
inoInn,2x3 — 6x2 = a(3x? — 12x) NRIWNY DIW' NIINND NND IX¥N a € R Yomon 7w 1w DY A

.DONaIvnN

S(x) >0 x € R27 nn pnn D"wnnn 72 09X Ao f an 4
J&)>MDopnn x € R M > 00"p :M90/InDIN X

J&x)>MDovpnn x € [0,1] 9w > M > 0 oz :pM9N/INDIN A

meNDIay 1 =a, ++/[1—a,| Mm*mnnTo'nn .5
.N71Y N'1I0M ANToN D INDIN X

.MToN 72 NXR IRYN L0 < aq € R RN RN w0 7w Ry DY A

NToN 712 DX AwWN X

1*+ 2%+ +n*
a, =

ns

sin(1) — —_ <a<sin (1) o"pnn a%0n INXNn A
1000 |



